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a Theorem 2.1%: (Reqular Decam,,ou'h'an)
a) Let u e HCcurl), Then there exists a d ecompedt Ty

u =VvY + 2,

with 96 HUR) and 2 € [ HUR)TS cuck fhal
I Uyt € € Hullyeen) and N2 Ua Sl cwlul!Ll .

8 If ue Holewl) | then there excake a decompocition
with e HA(R) and 2 e [HIe 13,

Eroo}_ze) Let ue H(curl) be guven.
e Then 4= corl u  sakafiac dc'v1,= 0.

o Lemmq 2.40: T 2€ [H'1%: g =curlz =curly

Walyr s c lgl, = c llcwtully,
¢ curl(u-2)=0,1e. 3P uU-2=VP W)

* We chosse P swch that (@1)=$@dx=D.
Then the bounds for the novwes follow fvom

W oy < NPPIL < Nall, ¢ 02 I,
<y "LZ.+ I( & "H’l £ llu "H(twl) .
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